EARAROBEEIERT — 2 N— IBISH —F

2019547270 (£) 2EF=3H

Ml >%3% 5005F (5 B

‘ [Riz] & ‘ [REBE] — | & (%) 1600M THE

[AE4£] 1% :7,200,000 @ ~ 23 :2,900,000H ~ 33&:

1,800,000 H . 4 & :1,100,000 H 5 & :720,000 M

& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
N N R :38. - . . INEAREL (EiR)
il5lg|7vrvhbT 3 RmH 1(3_8)0 5-5 36.3| 95.7 | 2 :ﬁ) gg;
R:Y=Z28—-3I=24— FB:F1)rIX7UD [E]skaec
= # 3 | C. x—Jb 1:38.2 1-1 37.0| 93.3 | 1 540 | BERFIME ()
27|13 Hvy—7 14 i 56.0 (1 1/4) o) ZHEEH
LIV NATA—h— Bz —T714-> ENS
N i 3 | ERBE 1:38.3 10-9 35.9]93.0 | 6 490 | HEER (FH)
3 TIRASZAL A 54.0 (3/4) (-10) BOEs
LHYIRT1TIRX B2t ToT1> Bk
FiBEX : - REE= (EH)
4 6lLhOT 1y b i 3 e 1'(349)'0 7-7 36.9| 86.2 | 5 f:) et
RIVINATA—h— B:ATIH—NRTOvY HET77—L
F 1)« vy S, F 4 3 | AEEE 1:39.1 4-4 37.5| 842 | 8 522 | WETHEEA (EH)
50815 7Yy VI F 56.0 (1/2) Ca | ) EEEA-2557
LNy v =l B:r14F7s31EX ke
3 2 4 3 | KEESR 1:39.1 2-2 37.8| 83.0 | 7 498 | KIEBEN (BR)
EE o | B EAEINK— 56.0 (727) (-g) | ERAEE
WN=Z—k21—X B:5714%H J =Y Tr—L
“ s 3 | EAEE 1:39.2 12-12 | 36.6| 84.4 | 14 | 480 |HESMEA (XiH)
7|5/8|VVE 54.0 (1/2) o |8
RN—5—-2y 7 BHHFULIE HET7—L
o H 3 | SHERK 1:39.5 12-14 | 36.8| 81.5 | 4 484 | RRIEE (EH)
8 5 1)—"jib 56.0 (1 3/4) 0 (H’()gG1 L—>9
R:/G1UXN B:T5-Va () tAa-—FRL -3 @ET7
3 | AFEIR 1:39.5 15-15 | 36.5| 81.6 | 9 490 | EEEAIME ()
9 7|81 AY</ 56.0 (NF) o | &K
R:O—XF>F4L BieAhIIXL= SLAYTT— L
. 4t 3 | FR— 1:39.8 5-5 38.1| 76.7 | 13 | 444 |fREEE= ()
10(8 14| ®AXHI—2R £52.0 (1 3/4) (-4) | KB
R:ZZHA—Y A BrarFLA 752 R
S 4% 3 | AHEBS 1:40.0 7-7 37.9| 76.0 | 10 468 | KEE— (EH)
1117112 R RKkO—Jb 54.0 (1 1/2) (+10) FATLRANIST (%)
:2hAXIVE—-2 BTF4TI—F RIHi5
Y Ly # 3 | AL Yazly 1:40.2 2-3 38.8| 73.5 | 3 508 | AEEA (i)
120011 7 ANLA 56.0 (3/4) (-q) |1IERERE
R:tE>r/nJAqA4 B —Hubg)— AL
5 = # 3 | BERMAR 1:40.2 7-9 37.8| 75.0 | 15 | 482 |BFHL (EH)
133 bYVTHITY—0O A53.0 (7€) (o) | TESE=F-LF TR @)
R:xXa—Yrsa—x B:T7INT4—% A L RBAR S
> s R 4 3 | BFHEAER 1:40.9 10-9 38.5| 67.5 | 11 | 484 |/NIE—5F (Ei#H)
14 4 xF LA KRY Ab4.0 (4) (-2) [iz] == -t
LT RIA Y L—> B:TI—LA2RY SZIE-—¥/3
= 4 3 | HDAE 1:41.1 14-12 38.5| 66.1 | 12 506 | mAE (Ei#)
150111 |A=YVITFv—nA 56.0 ) (cg) | TESRIF—LT (T2 ()
L:TZ7TURZ BT TIv— puie ]
@ 21 L
£ 49.3-36.8
NA>ZA L | 12.6-11.5-12.2-12.4-12.5-12.1-12.1-12.6
® 1—F—@EBIERL
13—7F-
Pal=5F=
== 13-(2,11)15(14,9) (3,12,6) (4,10) (5,8)1,7
43—+ — (x13,2)11,15(14,9)-(12,6) (3,4,10) (1,8)5,7
[ N5
B 9 490M 714K 9-13 280M e E 5-7 520 JEE 9-10-13 1,980
# B 9 170 9-10 1,080H B = 9-13 560M 3EE 9-13-10 12,400
13 110 10-13 470M B H 9-13 1,730
10 340H

ABICOVWTRDTEEERROODE. TR LIV,




